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By 3% A FI074E05 H 24 H eI Dt e/ 79 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
IENE w5 10. 00 | #H%F 422 4,220 1,566| 1,348 864
X H D e E 12. 00 [ #H%f 480 5, 760 572 456 324
F 9 NAEL O JE 0. 20| FH%F 420 84 97
H % o 3. 00| FHxf 248 7441 1,728] 1,390 864
i A ] 1L 1. 00| FHxf 235 235 540 435 194
ENIE s.00 faxt| 21| 105| 3,240 2,019| 1,080
A X 5. 00 | FHx} 346 1,730 1,944 1,416 540
e 2.00| 4| 8| 356 02| 624 486
= w5 4. 00| fHxf 296 1,184 1,080 878 648
F | a.00| x| e04| 2,416 1,296| 1,036 594
[ I\ w5 5. 00| FH%f 257 1,285 1,404| 1,166 864
EN N 5.00| #ExF| 154 70| 1,620| 1,368] 864
~7 h< |k F 3. 00| FHxf 102 306 1, 296
(= JEE I 2. 00| FH%f 15 30 2,160 1,980 1,728
H 7% (= 5. 00 | FHx%t 40 200 1,728 1,674 1,512
A—T 4 £ IH 10. 00| FA % 50 500 4,104 3,942 3,780
£ A L 10. 00| AHxf 1, 556 15,560 1,728| 1,545 648
L&A O 10. 00 | #856f 70 700 1, 080
==l F £ % 4. 00| AH%F 340 1, 360 702 596 540
Tuyal— (r— 6. 00| FA%f 175 1,050 2,052 1,512
ENIN 6.00 fxt| 20| 20 | 0,376
AEMEE w5 0. 10| FHxf 1, 650 165 151 98 65
ZDXH E % 0. 20 | FHx} 600 120 59
LU E % 0. 20 | FHx} 150 30 81
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F B % B # 58 B gl R I
e A FN07H05 H 24 A TR 18 hv (BisA)
i JE =4 BR7e | 8%k E=E e fiE HHiE ZAE

5 U H &% 10. 00 | AE% 5 50 7,020

A vava 74U e | 13.00| FB%f 12 156 4,104 3, 667 3, 132
S EIE & 0. 25| FAxf 4,316 1,082 486 308 162




